Welche ZeiT]‘orm ist es @ G=Gegenwart M = Mitvergangehheit

6| M 6| M 6| M 6| M
1 ichgehe 213 7 siemalle 15 13 erschrieb | | 15| 9 19 icherschrak | | 14 | 18
2 erlas 16| 11 8 erwusch | [2315 14 sielesen | [23|20| |20 ergub | |20 3
3 dulaufs 8 |24 9 dusingsl 7|21 15 ichschrie | | 23|19 21 siefressen | |13 |17
4 ichschlief | |18 |22 10 wirkamen | | 6 | 2 16 du gehst 105 22 eralB 22 | 24

: ich ich
5 siekommf [ | 15| [11 . 16| 3 17 1 17| |23 erheift || 4|13
schreibe gewann

6 wirgingen | | 8 |12 12 siekaufen | | 6 |19 18 siefinden | (20| 7 24 wir sfehen 14 | 6
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